
___ Fe  +   ___ S →  _____ FeS 

 
 

____ Al + ____ O2  →  ____ Al2 O3  

 

____ Ni + ___ MgSO4  →  ___ Mg + ___ NiSO4  

 

 

 

 

____ KClO3   →  ____ KCl + _____O2  

 

____ H2O →  ____ H2  + ____ O2  

 

___ Li2O +___ MgCl2 → ___ LiCl + ___ MgO 

 

____ H2 + ____ O2 →  ___ H2 O 

 

____ Fe2O3  + ____C →  ____ Fe + ____ CO 

 



4 Al + 3 O2  →  2 Al2 O3  

Addition reaction 

42 KClO3   →  2 KCl + 3 O2  

Decomposition reaction 

1 Li2O + 1 MgCl2 → 2 LiCl + 1 MgO 

Double displacement reaction 

2 H2 + 1 O2 →  2 H2 O 

Combustion reaction 

1 Ni + 1 MgSO4  →  1 Mg + 1 NiSO4  

 
Single displacement reaction 

2 H2 O →  2 H2  + 1O2  

Decomposition reaction 

1 Fe2O3  + 3C →  2 Fe + 3CO 

Single displacement reaction 

1 Fe   +   1 S →  1 FeS 
 

Addition reaction 



 __ HgO →  ___ Hg + ____ O2  

 

____ Fe   +   ____ S →  _____ Fe2 S3  

 

____ Na + ____ Cl2 →  ___ NaCl  
 

 

 

 

___ CH4 + ___ O2 → ___ H2O + ___ CO2 

 

 

 

 

__ AlCl3  + __ Na2CO3  →  __ Al2(CO3)3  + __ NaCl 

 

____ K2SO4  →  ____ K + ____ SO4  

 

 __ Fe2O3 + __ CuCl2 →  __ FeCl2 + ___ Cu2O3 

 



2 Fe   +   3 S →  1 Fe2 S3  

Addition Reaction 

1 CH4 + 2 O2 → 2 H2O + 1 CO2 

 
Combustion reaction 

____ K2SO4  →  ____ K + ____ SO4  

Decomposition Reaction 

2 HgO →  2 Hg + 1 O2  

Decomposition Reaction 

2 Na + 1 Cl2 →  2 NaCl  
 

Addition Reaction 

 

2 AlCl3  + 3 Na2CO3  →  1 Al2(CO3 )3  + 6 NaCl 

Double Displacement Reaction 

1 Fe2O3 + 2 CuCl2 →  2 FeCl2 +1 Cu2O3 

Double displacement reaction 


